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(@ Find the determinant of A. (10%)
(b) Find the reduced row-echolen form of A, that isrref(A)=? (10%)
(c) Findtherank of A. (5%)

%:4x+2y

Solve systems of differential equations: gt (25%)
d—il =2x+y+10

A function y = y(x) satisfies that the 1%-order differential equation:
xﬂ ~3x3+y=0
dx

(a) Does the differential equation satisfy the “ Condition of Exactness’ ? (10%)

(b) Solvetheinitia value problem given above for y(1) = 5. (10%)

Evaluate the followings:

. . . 2, 0<t<?2
() the Laplace transform of the piecewise function f(t):{ s 152

(b) the inverse Laplace transform of G(s) = # . (10%)

s?(s? +9)
s +4

(c) theinverse Laplace transform of H(s)=1In . (10%)

. (10%)



